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Time Allowed : 3 Hours} [Maximum Marks ; 80 () Show that :
Note .: Attempt five questions in all, selecting at lcast . .
one question from each Unit. Question No. 1 is iiﬂ_ﬂﬁ
compulsory. All questions carry equal marks. B P éx_?x o
Compulsory _'Questioﬁ .
L (a) If d = fir) whore r=yx? ¢ y?, prove that. = = where (5= 0é(e1)=0 88
= = .
2 2 = = 4 (s} Exomize for masinun aed minimum velues the
gu, %;2'& )+ 2 0. 3 Z 3 function
r s :i: - el
(b) Evaluate E "E . )
S S - sinx+siny +3in{x+ .
/2 ; = = ’
[ sin®0'dg’, = = , \ .
o o & e () Find the minimum value of the function
() Ifu=2xyz v=xy+y2+2X W=X+¥y + 2 verify - - eyt ey’ sublect to candition
that ¥
a{u,v,w) » ) gu+bv+ar=ash+e . 88
m—fh—?](y z)(z-x)
(d) Show that : - UNIT-II
. “D[e—;;.idx _ ﬁ_ _' 4 ‘1 4 4 1.:2
0 2 - T § @I |- [Esmnedﬂ[n::l]; prove  that
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Find a reduction fnt:mula for _[x“ 9ax -z dx and

R
evaluate jx'?' %ax —x2dx. ' 88

D .
Show that the length of the leop of the eurve

: s . 4a
3ay” =x{x -a)" is R
Find the intrinsic equation of the curve whose
pedal equation is p? =r®-a% a8
UNIT-II1
Find the area commen to the circle x*+y% =4

and the ellipse x* 4-_4}_2 =9.

{b) Find the surface area of a sphere of radius a.
88
7. {(a} Ewaluate _
H x2yidxdy.
T plsl .

{b) J-ﬂ x+y+z)dzxdydz over the tetrahedron
bounded by the planes x =0,y =0, z =0 and
X+y+z=0 8,8

_ UNIE-IV
8. ' (a) Show that
1 _m-1 -1
PO gye—t _B{mn).
3 (a+bx)m+n (ﬁ+b) _an g
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Prove that

F. 1 2 - . | |
.f?.]og(l+y251n x},d};:n[m:l} N

0 51 X

8,8

Find the egunation of _t-he- sphere which passes
through the orgin and meets the axes in A, B
and C. ' ' '

Find the equation of ‘the cone which contains
the three ce-ordinate axes and the lines through
the orgin having dircction <osines

IL} ml, ni . 12, mz, nz . 8,8
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